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1. 9 AABC-APQR @l /A = 60°,dd

LP =7


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QwW5WLespXxx

A.40°

B.60°

C.80°

D.100°

Answer: B

o Watch Video Solution

2.Uh IHH0T AABC, 53¢ /B = 90°,AB =6,

BC=8, dd AC=7.


https://dl.doubtnut.com/l/_QwW5WLespXxx
https://dl.doubtnut.com/l/_In14h9bwIP1v

A9

B.10

C. N

D. 12

Answer: B

° Watch Video Solution

3. Write the length of largest chord of a circle

with radius 3.2 cm.

| 8 l


https://dl.doubtnut.com/l/_In14h9bwIP1v
https://dl.doubtnut.com/l/_25De9XPzlz7E

4.Find the value of sin 30° + cos 60°

o Watch Video Solution

5.Find the area of a circle of radius 7 cm.

o Watch Video Solution

6. Draw seg AB of length 5.7 cm and bisect it.

| 8


https://dl.doubtnut.com/l/_25De9XPzlz7E
https://dl.doubtnut.com/l/_xSWsmNGibxHu
https://dl.doubtnut.com/l/_I6fXoU18ZTB4
https://dl.doubtnut.com/l/_WNlGwQdmjmMt

7. In right-angled triangle PQR, if
ZP =60°, ZR = 30° and PR =12, then find

the values of PQ and QR.

o Watch Video Solution

8. In a right circular cone, if perpendicular
height is 12 cm and radius is 5 cm, then find its

slant height.

o Watch Video Solution



https://dl.doubtnut.com/l/_WNlGwQdmjmMt
https://dl.doubtnut.com/l/_kzGOqfAXd9qV
https://dl.doubtnut.com/l/_RHnP0aUg3nwU

9. AABC and ADEF are equilateral
triangles. If A(AABC): A(ADEF) =1:2

and AB=4 , then what is the length of DE ?

A 24/2

B.4

C.8

D. 4./2

Answer:

I O Watch Video Solution


https://dl.doubtnut.com/l/_RHnP0aUg3nwU
https://dl.doubtnut.com/l/_IJuEokA5Gmrg

10. Out of the following which is a

Pythagorean triplet?

A. (5]12,14)

B. (3,4,2)

C. (8,15,17)

D. (5,5,2)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IJuEokA5Gmrg
https://dl.doubtnut.com/l/_ecyZOTxqTETi

M. ZACB is inscribed in arc ACB of a circle

with centre O . If ZACB = 65° , find m ( arc

ACB).

A.130°

B. 295°

C.230°

D.65°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ecyZOTxqTETi
https://dl.doubtnut.com/l/_CRg5YDBP0tsM

12.1 + tan® 0 =?

A.sin® @

B.sec’ 0

C. cos ec’0

D. cot 6°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CRg5YDBP0tsM
https://dl.doubtnut.com/l/_jH4YOJJPbrQj
https://dl.doubtnut.com/l/_InupewHovpDi

13. Find slope of a line passing through the

points A(3, 1) and B(5, 3).

o Watch Video Solution

14. Find the surface area of a sphere of radius

3.5cm.

o Watch Video Solution

15. How many solid cylinders of radius 6 cm

and height 12 cm can be made by melting a


https://dl.doubtnut.com/l/_InupewHovpDi
https://dl.doubtnut.com/l/_GMsoZ0OvzdYA
https://dl.doubtnut.com/l/_koh1F7u7bPP5

solid sphere of radius 18 cm?
Activity: Radius of the sphere,r =18 cm
For cylinder, radius R =6 cm, height H=12 cm

Number of cylinders can be made

Volume of the sphere
N

2rrs

3
]
§><18><18><18
O]

= [

o Watch Video Solution



https://dl.doubtnut.com/l/_koh1F7u7bPP5

16. Verify whether the following points are
collinear or not:

A(1,-3),B(2,-5),C(-4,7).

o Watch Video Solution

25
17.1f sec O = 5 then find the value of tan 0

o Watch Video Solution



https://dl.doubtnut.com/l/_aID4qe9jSeIk
https://dl.doubtnut.com/l/_fSHUc0wUgo6p

18.In APQR ,seg PM is a median , PM=9 and

PQ° + PR? = 290. Find the length of QR.

° Watch Video Solution

19. When an observer at a distance of 12 m
from a tree looks at the top of the tree, the
angle of elevation is 60°. What is the height of

the tree?

o Watch Video Solution



https://dl.doubtnut.com/l/_4foWHAw4BDWz
https://dl.doubtnut.com/l/_soqBjCyEQc1T
https://dl.doubtnut.com/l/_Pqx3kzGmZVbT

20. Show that the points (2,0), (-2,0) and (0,2)
are the vertices of
a triangle. Also state with reason the type of

the triangle .

° Watch Video Solution



https://dl.doubtnut.com/l/_Pqx3kzGmZVbT

